DEFINITE INTEGRALS INVOLVING TRIGONOMETRIC FUNCTIONS
Summary—trigonometric integrals

Isinxdx=—cosx+C J.sinaxdx=—%cosax+C J‘sin(ax+b)dx=—lcos(ax+b)+c
jcosxdx=s'mx+C jcosaxdx=%sinax+c jcos(ax+b)dx —sm(ax+b)+C

J'seczxdx=tanx+C J.seczaxdx=%tanax+c Isec (ax+b)dx=atan(ax+b)+C

Example 20
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Evaluate: (a) cos x dx (b) I ’ sin 2x dx (c) J‘T sec’ xdx
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(d) . 02 cos(Zx—%)dx (e) I;(COSZX —3sinx)dx

Solution
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(©) J'fseczxdx=[tanx](‘,‘£ (d) jcos(2x %dx [%sin(Zx—%)]
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(e) j(cost 3sinx)dx = [231n2x+3cosx]

( sm + 3cos%)
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Example 21
T

Calculate the area bounded by the curve y = sin x, the x-axis and the ordinates x = % and x= >
Solution
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